
JEE Main June 2022

Question Paper With Text Solution

26 June | Shift-1

MATRIX

CHEMISTRY

JEE Main & Advanced | XI-XII Foundation| VI-X Pre-Foundation

Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911
Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in



Question Paper With Text Solution (Chemistry)
JEE Main June 2022 | 26 June Shift-1

Page No. 2

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

1. A commercially sold conc. HCl is 35% HCl by mass. If the density of this commercial acid is 1.46 g/mL, the

molarity of this solution is : (Atomic mass : Cl = 35.5 amu, H = 1 amu)

O;kolkf;d :i esa fcdus okyk lkUnz HCl nzO;eku ls 35% HCl gksrk gSA ;fn bl O;kikfjd vEy dk ?kuRo 1.46 g/

mL gS] rks bl foy;u dh eksyjrk gS % (ijek.kq nzO;eku : Cl = 35.5 amu, H = 1 amu)

(1) 10.2 M (2) 12.5 M (3) 14.0 M (4) 18.2 M

Ans. Official Answer NTA (3)

Question ID:101031

Sol.  

35
Molarity 1000 14.0 M

100
36.5

1.46

  



2. An evacuated glass vessel weighs 40.0 g when empty, 135.0 g when filled with a liquid of density 0.95

g mL–1 and 40.5 g when filled with an ideal gas at 0.82 atm at 250 K. The molar mass of the gas in

g mol–1 is : (Given : R = 0.082 L atm K–1 mol–1)

,d fuokZfrr “kh”ks ds ik= dk Hkkj 40.0 g gS tc og [kkyh gS] 135.0 g gS tc og 0.95 g mL–1 ?kuRo okys nzo ls Hkjk

gS rFkk 40.5 g gS tc og 0.82 atm nkc ,oa 250 K ij ,d vkn”kZ xSl ls Hkjk gSA xSl dk vkf.od nzO;eku (g mol–1 esa)

gS % (fn;k x;k gS : R = 0.082 L atm K–1 mol–1)

(1) 35 (2) 50 (3) 75 (4) 125

Ans. Official Answer NTA (4)

Question ID:101032

Sol. Weight of liquid = 135.0 – 40.0 = 95.0 g

Volume of liquid = 
95

0.95
 = 100 ml = 0.1 L

Weight of gas = 0.5 g

Moles of gas = 
0.5

M

PV = nRT

0.5
0.82 0.1 0.082 250

M
   

M = 0.5 × 250 = 125 g mol–1
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3. If the radius of the 3rd Bohr's orbit of hydrogen atom is r
3
 and the radius of 4th Bohr's orbit is r

4
. Then:

;fn gkbMªkstu ijek.kq ds 3rd cksj d{kk dh f=T;k r
3
 gS rFkk 4th cksj d{kk dh f=T;k r

4
 gS rks %

(1) 4 3

9
r r

16
 (2) 4 3

16
r r

9
 (3) 4 3

3
r r

4
 (4) 4 3

4
r r

3


Ans. Official Answer NTA (2)

Question ID:101033

Sol.
2n

r 0.529 Å
z

 

2

3

3
r 0.529

1
 

2

4

4
r 0.529

1
 

2
4

2
3

r 4 16

r 3 9
 

3
4

16r
r

9


4. Consider the ions/molecule

2
2 2 2 2O ,O ,O ,O  

For increasing bond order the correct option is :

fuEu vk;uksa@v.kq ij fopkj djsa %

2
2 2 2 2O ,O ,O ,O  

c<+rs gq, vkcU/k dksfV gsrq lgh fodYi gSA

(1) 2
2 2 2 2O O O O     (2) 2

2 2 2 2O O O O    

(3) 2
2 2 2 2O O O O     (4) 2

2 2 2 2O O O O    

Ans. Official Answer NTA (1)

Question ID:101034
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Sol. ion/molecule
Number
 of e  in
BMO

–

Number
of e  in
ABMO

–
Bond
order

O2

+

O2

O2

–

O2

2–

10

10

10

10

5

6

7

8

2.5

2

1.5

1

Bond roder O
2
2– < O

2
– < O

2
 < O

2
+

5. The 
P

E

T

 
 
 

 of different types of half cells are as follows :

A B C D

1 × 10–4 2 × 10–4 0.1 × 10–4 0.2 × 10–4

(Where E is the electromotive force)

Which of the above half cells would be preferred to be used as reference electrode ?

fofHkUu izdkj ds v/kZ lsyksa ds fy, 
P

E

T

 
 
 

 fuEu gSa %

A B C D

1 × 10–4 2 × 10–4 0.1 × 10–4 0.2 × 10–4

(tgk¡ E = oS|qr okgd cy gS)

mi;qZDr v/kZ lsyksa esa ls fdl lanHkZ bysDVªksM ds mi;ksx esa ojh;rk nh tk,xh \

(1) A (2) B (3) C (4) D

Ans. Official Answer NTA (3)

Question ID:101035

Sol. A cell with less variation in EMF with temperature is preferred as reference electrode because it can be used

for wider range of temperature without much deviation from standard value so a cell with less 
P

E

T

 
 
 

 is

preferred.
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6. Choose the correct stability order of group 13 elements in their +1 oxidation state.

+1 vkWDlhdj.k voLFkk esa lewg 13 ds rRoksa ds LFkkf;Ro ds lgh Øe dks pqusa %

(1) Al < Ga < In < Tl (2) Tl < In < Ga < Al (3)  Al < Ga < Tl < In (4) Al < Tl < Ga < In

Ans. Official Answer NTA (1)

Question ID:101036

Sol. In boron family as we move down the group, stability of +1 state increases due to inert pair effect

7. Given below are two statements :

Statement I : According to the Ellingham diagram, any metal oxide with higher G° is more stable than the one

with lower G°.

Statement II : The metal involved in the formation of oxide placed lower in the Ellingham diagram can reduce

the oxide of a metal placed higher in the diagram. In the light of the above statements, choose the most

appropriate answer from the options given below :

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.

(3) Statement I is correct but Statement II is  incorrect.

(4) Statement I is incorrect but Statement II is correct.

uhps nks dFku fn, x, gSa :

dFku I : ,fya?ke vkjs[k ds vuqlkj] vf/kd G° okyk dksbZ /kkrq vkWDlkbM de G° okys /kkrq vkWDlkbM

ls vf/kd LFkk;h gksrk gSA

dFku II : og /kkrq tks vkWDlkbM fuekZ.k esa fgLlk ysrh gS rFkk ,fy?kae vkjs[k esa uhps fLFkr gS] og vkjs[k

esa Åij fLFkr /kkrq ds vkWDlkbM dks vipf;r dj ldrk gSA

mi;qZDr dFkuksa ds izdk”k esa uhps fn, x, fodYiksa esa ls lokZf/kd mi;qDr mÙkj dks pqusa %

(1) dFku I ,oa dFku II nksuksa lgh gSaA

(2) dFku I ,oa dFku II nksuksa xyr gSaA

(3) dFku I lgh gS ijUrq dFku II xyr gSA

(4) dFku I xyr gS ijUrq dFku II lgh gSA

Ans. Official Answer NTA (4)

Question ID:101037
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Sol. Ellingham diagram is plot of G vs T. The criterion for the feasibility of a thermal reduction is that at a given

temperature Gibbs energy change of a reaction must be negative. The change in Gibbs energy, G for any

process at any specified temperature, is given by the equation

G = H – TS

where H = enthalpy change and

S = entropy change

According to the ellingham diagram, any metal oxide with higher G° has a tendency of getting reduced by the

metal whose metal oxide has lower value of G°.

Therefore, Statement I is incorrect but Statement II is correct.

8. Consider the following reaction :

2HSO (aq)4

–
2HSO  + 2H  + A4

– +(1) Electrolysis

(2) Hydrolysis

The dihedral angle in product A in its solid phase at 110 K is :

fuEu vfHkfØ;k ij fopkj djsa %

2HSO (aq)4

– 2HSO  + 2H  + A4

– +(1) oS|qr vi?kVu

(2) ty vi?kVu

110 K ij Bksl izkoLFkk esa mRikn A dk f}ry dks.k gS %

(1) 104° (2) 111.5° (3) 90.2° (4) 111.0°

Ans. Official Answer NTA (3)

Question ID:101038

Sol. A should be H
2
O

2

Structure of H
2
O

2
 in solid phase

90.2°

101.9°

H

H

145.8 pm

Dihedral angle = 90.2°
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9. The correct order of melting point is :

xyukad dk lgh Øe gS %

(1) Be > Mg > Ca > Sr (2) Sr > Ca > Mg > Be

(3) Be > Ca > Mg > Sr (4) Be > Ca > Sr > Mg

Ans. Official Answer NTA (4)

Question ID:101039

Sol. M.P

Be 1560 K

Mg 924 K

Ca 1124 K

Sr 1062 K

10. The correct order of melting points of hydrides of group 16 elements is :

lewg 16 rRoksa ds gkbMªkbMksa ds xyukad dk lgh Øe gS %

(1) H
2
S < H

2
Se < H

2
Te < H

2
O (2) H

2
O < H

2
S < H

2
Se < H

2
Te

(3) H
2
S < H

2
Te < H

2
Se < H

2
O (4) H

2
Se < H

2
S < H

2
Te < H

2
O

Question ID:101040

Ans. Official Answer NTA (1)

Sol. M.P

H
2
O 273 K

H
2
S 188 K

H
2
Se 208 K

H
2
Te 222 K

11. Consider the following reaction :

A + alkali  B (Major Product)

If B is an oxoacid of phosphorus with no P-H bond, then A is :

(1) White P
4

(2) Red P
4

(3) P
2
O

3
(4) H

3
PO

3
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fuEu vfHkfØ;k ij fopkj djsa %

A + {kkj  B (eq[; mRikn)

;fn B QkLQksjl dk ,d vkWDlks vEy gS ftlesa dksbZ Hkh P-H vkcU/k ugha gS] rks A gS %

(1) “osr P
4

(2) yky P
4

(3) P
2
O

3
(4) H

3
PO

3

Ans. Official Answer NTA (2)

Question ID:101041

Sol. Red P on reaction with alkali gives hypophosphoric acid (H
4
P

2
O

6
)

P

oo

HO

P

HO

OH
OH

12. Polar stratospheric clouds facilitate the formation of :

/kzqoh; lerkieaMyh; ckny fuEu ds fuekZ.k dks lqxe djrs gSa %

(1) ClONO
2

(2) HOCl (3) ClO (4) CH
4

Ans. Official Answer NTA (2)

Question ID:101042

Sol. In summer season nitrogen dioxide and methane react with chlorine monoxide and chlorine atoms forming,

Chlorine sinks, preventing much ozone depletion, whereas in winter, special types of clouds called polar

stratospheric clouds are formed over Antarctica. These polar stratospheric clouds provide surface on which

chlorine nitrate formed gets hydrolysed to form hypochlorous acid.

2 2ClO(g) + N O  (g)  ClONO  (g)
 



2 2 3ClONO (g) + H O(g)  HOCl(g) + HNO (g)

13. Given below are two statements :

Statement I : In 'Lassaigne's Test', when both nitrogen and sulphur are present in an organic compound, sodium

thiocyanate is formed.

Statement II : If both nitrogen and sulphur are present in an organic compound, then the excess of sodium used

in sodium fusion will decompose the sodium thiocyanate formed to give NaCN and Na
2
S. In the light of the

above statements, choose the most appropriate answer from the options given below:
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(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct.

uhps nks dFku fn, x, gSa :

dFku I : ySlkusa ijh{k.k esa tc fdlh dkcZfud ;kSfxd esa ukbVªkstu ,oa lYQj nksuksa mifLFkr gksrs gSa rks

lksfM;e Fkk;kslk;usV dk fuekZ.k gksrk gSA

dFku II : tc fdlh dkcZfud inkFkZ esa ukbVªkstu ,oa lYQj nksuksa mifLFkr jgrs gSa rks lksfM;e laxyu

esa mi;ksx dh xbZ lksfM;e dh vf/kd ek=k] mRiUu lksfM;e Fkk;kslk;usV dks vi?kfVr dj

NaCN ,oa Na
2
S cuk nsrk gSA

mi;qZDr dFkuksa ds izdk”k esa uhps fn, x, fodYiksa esa ls lokZf/kd mi;qDr mÙkj dks pqusa %

(1) dFku I ,oa dFku II nksuksa lgh gSaA

(2) dFku I ,oa dFku II nksuksa xyr gSaA

(3) dFku I lgh gS ijUrq dFku II xyr gSA

(4) dFku I xyr gS ijUrq dFku II lgh gSA

Ans. Official Answer NTA (1)

Question ID:101043

Sol. Both statement-I & II are correct.

(In case, nitrogen and sulphur both are present in an organic compound, then sodium thiocyanate (Blood red

colour) is formed with neutral FeCl
3
.

Na + C + N + S  NaSCN

Neutral FeCl
3
 + NaSCN  Fe(SCN)

3
)

        Blood red

If Na is taken in excess, it destroy SCN– and form Na
2
S and NaCN.
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14. (C H –O )7 5 2 2 [X]  2C H  + 2CO 6 5 2

h

Consider the above reaction and identify the intermidiate ‘X’.

(C H –O )7 5 2 2 [X]  2C H  + 2CO 6 5 2

h

mi;qZDr vfHkfØ;k ij fopkj djsa ,oa e/;orhZ ‘X’ dks igpkus %

(1) C H – C6 5 

O
 (2) C H – C – O6 5 

O

(3) C H – C – O6 5 

O

(4) C H – C – O6 5 

O

Ans. Official Answer NTA (4)

Question ID:101044

Sol.

O

C H – C – O – O – C – C H   2C H  – C – O6 5 6 5 6 5

O O

(x)

h

(C H O )7 5 2 2

2C H  + 2CO6 5 2

15. CH  – C – CH  – C – CH3 2 3 ‘A’ ‘B’

MgBr

MgBr

O O
H O2

Major Product

Consider the above reaction sequence and identify the product B.

CH  – C – CH  – C – CH3 2 3 ‘A’ ‘B’

MgBr

MgBr

O O
H O2

eq[; mRikn

mi;qZDr vfHkfØ;k ds Øe ij fopkj djsa ,oa mRikn B dks igpkusaA

(1) 

OH

HO
CH3

CH3

(2) 

OH

OH
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(3) 

OH

OH

H C3

H C3

(4) 

H C3 CH3

OO

Ans. Official Answer NTA (1)

Question ID:101045

Sol. Although Acetyl Acetone predominantly gives Acid base reaction with G.R due to Active methylene group but

according to given option are should be based on nucleophilic addition reaction (NAR).

MgBr
 O C

+

 CH3

 CH2

 CH2

 CH2MgBr
 CH

O C-

 CH2

 CH3

mgBrOO
-

C

O
O-

mgBr CH3

H O2

OH

OH
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16. Which will have the highest enol content?

fuEu esa ls fdlesa ^bZuky* (enol) dh ek=k lokZf/kd gS \

(1) 

O

O

(2) 

O

O

(3) 

O

OO

(4) 

O

O

Ans. Official Answer NTA (3)

Question ID:101046

Sol.

OHHO

OH

is tautomer of
O O

O

17. Among the following structures, which will show the most stable enamine formation?

(Where Me is –CH
3
)

fuEu lajpukvksa esa ls dkSu lh lokZf/kd LFkk;h ̂ bZu,sehu* (enamine) fuekZ.k iznf”kZr djsxh \

(tgk¡ Me – CH
3 
gS)

(1) 

COOHN

OMe

Me
(2) 

COOHN
OMe

Me

(3) 

COOHN

OMe

Me (4) 

COOHN

MeO
Me

Ans. Official Answer NTA (3)

Question ID:101047

Sol.
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18. Which of the following sets are correct regarding polymer?

(A) Copolymer : Buna-S

(B) Condensation polymer : Nylon-6,6

(C) Fibres : Nylon-6,6

(D) Thermosetting polymer : Terylene

(E) Homopolymer : Buna-N

Choose the correct answer from given options below :

(1) (A), (B) and (C) are correct (2) (B), (C) and (D) are correct

(3) (A), (C) and (E) are correct (4) (A), (B) and (D) are correct

fuEu esa ls cgqydksa ds lanHkZ esa dkSu ls lsV lgh gSa \

(A) lg cgqyd % C;wuk–S

(B) la?kuu cgqyd % ukbyu–6, 6

(C) js”ks % ukbykWu–6, 6

(D) rkiǹ<+ cgqyd % Vsjhyhu

(E) lecgqyd % C;wuk–N

uhps fn, x, fodYiksa esa ls lokZf/kd mfpr mÙkj pqusa %

(1) (A), (B) ,oa (C) (2) (B), (C) ,oa (D) (3) (A), (C) ,oa (E) (4) (A), (B) ,oa (D)

Ans. Official Answer NTA (1)

Question ID:101048

Sol. (A) Buna-S – Copolymer

(B) Nylon-6,6 – Condensation polymer

(C) Nylon-6,6 – Fibre

(D) Terylene – Thermoplastic

(E) Buna-N – Copolymer

(A) A, B and C are correct.

19. A chemical which stimulates the secretion of pepsin is :

(1) Anti histamine (2) Cimetidine (3) Histamine (4) Zantac

jlk;u tks isfIlu ds lzo.k dks izksRlkfgr djrk gS] og gS %



Question Paper With Text Solution (Chemistry)
JEE Main June 2022 | 26 June Shift-1

Page No. 14

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

(1) izfrfgLVSfeu (2) flesfVMhu (3) fgLVSfeu (4) tSuVsd

Ans. Official Answer NTA (3)

Question ID:101049

Sol. Histamine stimulates the secretion of pepsin and hydrochloric acid in the stomach.

 NH2

HN

N
Histamine

20. Which statement is not true with respect to nitrate ion test ?

(1) A dark brown ring is formed at the junction of two solutions.

(2) Ring is formed due to nitroferrous sulphate complex.

(3) The brown complex is [Fe(H
2
O)

5
 (NO)]SO

4
.

(4) Heating the nitrate salt with conc. H
2
SO

4
, light brown fumes are evolved.

ukbVªsV vk;u ds xq.kkRed ijh{k.k ds lanHkZ esa dkSu lk dFku lgh ugha gS \

(1) nks foy;u ds varjki`’B ¼taD”ku½ ij ,d xk<+k&Hkwjk oy; curk gSA

(2) ukbVªksQsjl lYQsV ladqy ds fuekZ.k ds dkj.k oy; fufeZr gksrk gSA

(3) Hkwjk ladqy gS % [Fe(H
2
O)

5
 (NO)]SO

4

(4) yo.k dks lkUnz H
2
SO

4
 ds lkFk xeZ djus ij gYdh&Hkwjh xSl fudyrh gSA

Ans. Official Answer NTA (2)

Question ID:101050

Sol. Brown ring test

NO
3
– + 3Fe+2 + 4H+  NO + 3Fe+3 + 2H

2
O

[Fe(H
2
O)

6
]2+ NO  [Fe(H

2
O)

5
NO]2+ H

2
O

Brown ring

21. For complete combustion of methanol

       3 2 2 2

3
CH OH O g CO g 2H O

2
  l l

the amount of heat produced as measured by bomb calorimeter is 726 kJ mol–1 at 27°C. The enthalpy of

combustion for the reaction is  –x kJ mol–1, where x is _______.   (Nearest integer)

(Given : R = 8.3 JK–1 mol–1)
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esFksukWy ds iw.kZ ngu ds fy,

       3 2 2 2

3
CH OH O g CO g 2H O

2
  l l

ce dsyksjhehVj }kjk ekih xbZ mRiUu Å’ek dh ek=k 27°C ij 726 kJ mol–1 gSA ngu vfHkfØ;k dh ,UFkSYih gS

–x kJ mol–1, tgk¡ x gS _______A (fudVre iw.kkZad)

(fn;k x;k gS % R = 8.3 JK–1 mol–1)

Ans. Official Answer NTA (727)

Question ID:101051

Sol. U = –726 KJ/mol

n
g
 = 1 –3/2 = 

1

2



H = U + n
g
RT

1 8.3 300
726

2 1000


   

= –727.245

22. A 0.5 percent solution of potassium, chloride was found to freeze at – 0.24°C. The percentage dissociation of

potassium chloride is ______. (Nearest integer)

(Molal depression constant for water is 1.80 K kg mol–1 and molar mass of KCl is 74.6 g mol–1)

iksVSf”k;e DyksjkbM dk 0.5 izfr”kr foy;u – 0.24°C ij te tkrk gSA iksVSf”k;e DyksjkbM dk fo;kstu izfr”kr gS

______A (fudVre iw.kkZad)

(ty ds fy, eksyy voueu fLFkjkad gS % 1.80 K kg mol–1 ,oa KCl dk eksyj nzO;eku gS % 74.6 g mol–1)

Ans. Official Answer NTA (98)

Question ID:101052

Sol. 100 gm of solution contains 0.5 gm KCl then mass of H
2
O = 100 – 0.5 = 99.5 gm

0.5 1
m

74.5 .0995
 

0.24 74.6 .0995
i

.5 1.80

 




= 1.979

1.979 = 1 +  (n–1)

1.979 = 1 + 
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 = .979

%  = 97.9%

Ans 98%

23. 50 mL of 0.1 M CH
3
COOH is being titrated against 0.1 M NaOH. When 25 mL of NaOH has been

added, the pH of the solution will be _______ × 10–2 . (Nearest integer)

(Given : pK
a
 (CH

3
COOH) = 4.76)

0.1 M CH
3
COOH ds 50mL dk 0.1 M NaOH ds lkFk vuqekiu fd;k x;kA tc NaOH ds 25 mL feyk;s x, rks

foy;u dk pH gks x;k _______ × 10–2A (fudVre iw.kkZad)

(fn;k x;k gS % pK
a
 (CH

3
COOH) = 4.76)

log 2 = 0.30

log 3 = 0.48

log 5 = 0.69

log 7 = 0.84

log 11 = 1.04

Ans. Official Answer NTA (476)

Question ID:101053

Sol. CH
3
COOH (aq) + NaOH (aq.)  CH

3
COONa (aq) + H

2
O (  )

milli moles 5 2.5

After reaction

milli moles 2.5 – 2.5

Resultat solution is acidic buffer solution with same concentration of acid and salts. So, pH of solution

pH = pKa = 4.76 = 476 × 10–2.

24. A flask is filled with equal moles of A and B. The half lives of A and B are 100 s and 50 s respectively

and are independent of the initial concentration. The time required for the concentration of A to be four

times that of B is _______s. (Given: ln 2 = 0.693)

,d ¶ykLd esa A ,oa B ds leku eksyksa dks Hkjk x;k gSA A ,oa B dh v)Z vk;q gSa Øe”k% 100 s ,oa 50 s tks mudh izkjfEHkd

lkUnzrk ls Lora= gSaA le; ftlesa A dh lkUnzrk B dh lkUnzrk dh pkj xquk gks tk,xh] og gS _______s.
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(fn;k x;k gS % ln 2 = 0.693)

Ans. Official Answer NTA (200)

Question ID:101054

Sol. For first order reaction

1
2

0.693
k

t


[A] = 4[B]

   A Bk t k t

0 0
A e 4 B e 

    A Bk t k t

0 0
as A B ;e 4e  

–k
A
t = In4 –k

B
t

 B At k k 2 n2   

2 0.693 2 100
t 200sec.

0.693 0.693 2 1

50 100

 
  

 
 

 

25. 2.0 g of H
2
 gas is adsorbed on 2.5 g of platinum powder at 300 K and 1 bar pressure. The volume of the gas

adsorbed per gram of the adsorbent is ______ mL.

(Given : R = 0.083 L bar K–1 mol–1)

300 K ,oa 1 bar nkc ij 2.0 g H
2
 xSl dks 2.5 g IySfVue pw.kZ ij vf/k”kksf’kr fd;k x;k gSA vf/k”kks’kd dh izfr xzke ek=k

ij vf/k”kksf’kr gq;h xSl dk vk;ru gS ______ mL.

(fn;k x;k gS % R = 0.083 L bar K–1 mol–1)

Ans. Official Answer NTA (9960)

Question ID:101055

Sol. PV = nRT

2 0.083 300
V 24.9 Litre

2 1

 
 



    Volume of the gas adsorbed per gram of the adsorbent = 
24.9

9.96L
2.5



= 9960 ml
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26. The spin-only magnetic moment value of the most basic oxide of vanadium among V
2
O

3
, V

2
O

4
 and V

2
O

5
 is

___________ B.M. (Nearest integer)

V
2
O

3
, V

2
O

4
 ,oa V

2
O

5
 esa ls oSusfM;e ds lokZf/kd {kkjh; vkWDlkbM ds ^dsoy fLiu* pqEcdh; vk?kw.kZ dk eku gS

___________ B.M. (fudVre iw.kkZad)

Ans. Official Answer NTA (3)

Question ID:101056

Sol. The most basic oxide among V
2
O

3
, V

2
O

4
 and V

2
O

5
 is V

2
O

3

Magnetic moment =  2 2 2 8 

= 2.833

27. The spin-only magnetic moment value of an octahedral complex among CoCl
3
.4NH

3
, NiCl

2
.6H

2
O and

PtCl
4
.2HCl, which upon reaction with excess of AgNO

3
 gives 2 moles of AgCl is _______ B.M.

(Nearest Integer)

CoCl
3
·4NH

3
, NiCl

2
·6H

2
O ,oa PtCl

4
·2HCl ladqyksa esa ls ,d AgNO

3
 ds vkf/kD; esa ls vfHkfØ;k dj AgCl ds 2

eksyksa dk fuekZ.k djrk gSA ml ladqy ds ^dsoy fLiu* pqEcdh; vk?kw.kZ dk eku gS _______ B.M.

(fudVre iw.kkZad)

Ans. Official Answer NTA (3)

Question ID:101057

Sol. CoCl
3
. 4NH

3
  [Co(NH

3
)

4
Cl

2
]Cl

NiCl
2
.6H

2
O  [Ni(H

2
O)

6
]Cl

2

PtCl
4
.2HCl  H

2
[PtCl

6
]

[Ni(H
2
O)

6
]Cl

2
 32AgNO  2AgCl + [Ni(H

2
O)

6
](NO

3
)

2

 e
g

 t
2g

 1 2 2 B.M 2.84BM 3    

28. On complete combustion 0.30 g of an organic compound gave 0.20 g of carbon dioxide and 0.10 g of

water. The percentage of carbon in the given organic compound is ______. (Nearest Integer)

0.30 g dkcZfud ;kSfxd dk iw.kZ ngu ij 0.20 g dkcZu MkbvkWDlkbM ds ,oa 0.10 g ty nsrk gSA dkcZfud ;kSfxd esa

dkcZu dk izfr”kr gS ______ (fudVre iw.kkZad)

Ans. Official Answer NTA (18)
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Question ID:101058

Sol. Moles of CO
2
 = 

0.2

44

Moles of carbon = 
0.2

44

Weight of carbon = 
0.2

44
 × 12 g

% of carbon = 
0.2

44
 × 12 × 

100

0.3
 = 18.111

29. Compound ‘P’ on nitration with dil. HNO
3
 yields two isomers (A) and (B). These isomers can be separated by

steam distillation. Isomers (A) and (B) show the intramolecular and intermolecular hydrogen bonding respectively.

Compound (P) on reaction with conc. HNO
3
 yields a yellow compound ‘C’, a strong acid. The number of

oxygen atoms is present in compound ‘C’ ________.

;kSfxd ‘P’ ruq HNO
3
 ds lkFk ukbVªksdj.k ij nks leko;o (A) ,oa (B) nsrk gSA ;s leko;o Hkki vklou }kjk i`Fkd fd,

tk ldrs gSaA leko;o (A) ,oa (B) Øe”k% varjkv.kqd ,oa varj v.kqd gkbMªkstu vkcU/k iznf”kZr djrs gSaA ;kSfxd (P) dh

lkUnz HNO
3
 ds lkFk vfHkfØ;k ihys jax dk ,d ;kSfxd ‘C’ cukrh gS tks izcy vEyh; gSA ;kSfxd ‘C’ esa mifLFkr

vkWDlhtu ijek.kqvksa dh la[;k gS@gSa ________A

Ans. Official Answer NTA (7)

Question ID:101059
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Sol.

dill HNO3

OH

OH

P

Conc. HNO3

 NO2

A

OH

B

 NO2
 NO2

OH

 NO2

 NO2

Picric acid
(Yellow Compound)

30. The number of oxygens present in a nucleotide formed from a base, that is present only in RNA is _______.

dsoy RNA esa ik, tkus okys {kkj ls cus U;wfDyksVkbM esa mifLFkr vkWDlhtu ijek.kqvksa dh la[;k gS _______A

Ans. Official Answer NTA (9)

Question ID:101060

Sol. Nucleotide formed by Uracil, the base present in RNA, is

O

PO O

O

OH OH

O

O

O

H H

N

NH

The number of oxygen = 9


